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TN T AR T 3R HIEESE s
HET R4 1H12B8E (1 H10B~1H1208) | 1 A10RBIE (1 H8H~1H10H) ATRIIEI
B S G 5 x G HARER | R

1A 117 121 238 648 694| 1,342| -1,104| -82.27%
KR 52 53 105 260 241 501 -396| —79.04%
B T 542 610| 1,152 475 432 907 245 27.01%
T 130 125 255 88 77 165 90 54. 55%
e 401 418 819 317 300 617 202 32. 74%
ESCIPARGf 498 515 1,013 308 307 615 398 64. 72%
it 39 28 67 190 169 359 -292| -81.34%
R 185 185 370 143 121 264 106|  40.15%
£ 23 16 39 135 155 290 -251| —86.55%
KEM 30 25 55 425 389 814 -759| —93. 24%
HUAR T 467 462 929 346 330 676 253 37. 43%
AR T 164 175 339 110 100 210 129 61. 43%
A BE T 26 21 47 130 116 246 -199/ -80.89%
(L3 |y 47 54 101 85 65 150 -49|  -32.67%
WL T 62 62 124 66 67 133 -9/ -6.77%
AT AEHT 188 184 372 87 67 154 218 141.56%
75 I ET 34 41 75 32 24 56 19 33.93%
CENEN) 15 11 26 42 32 74 -48|  -64. 86%
I HT 71 56 127 67 41 108 19 17. 59%
KA HET 60 50 110 51 36 87 23 26. 44%
& | LT 109 93 202 76 78 154 48 31. 17%
B AT 80 88 168 90 83 173 -5 -2.89%
vimiAill 64 63 127 39 51 90 37 41.11%
HEE) AT 101 101 202 58 40 98 104, 106. 12%
N7 7 5 12 6 7 13 -1 -7.69%
fitE ) 1FY 42 40 82 25 22 47 35 74. 47%
FIRFS 66 57 123 50 39 89 34 38. 20%
=Ll 15 6 21 111 89 200 -179| -89. 50%
JI PEHT 45 37 82 111 87 198 -116/ -58.59%
/INERT 87 84 171 61 51 112 59 52. 68%
I JEERT 12 16 28 57 64 121 -93|  -76.86%
i - HT 23 17 40 32 23 55 -15|  —27.27%
= JIET 8 7 15 66 48 114 -99| —86.84%
JE PN T 13 14 27 103 97 200 -173| -86.50%
W] 112 102 214 80 73 153 61 39. 87%
7 3,935 3,942 7,877 4,970| 4,615 9,585 -1,708 —17.82%




